



$$A = \frac{R_2 + R_1}{R_1} = 1 + \frac{R_2}{R_1}$$

$$\beta \equiv \frac{V_i}{V_0} = \frac{Z_p}{Z_p + Z_s}$$

$$Z_p = \frac{R \cdot \frac{1}{sC}}{R + \frac{1}{sC}} = \frac{R}{1 + sRC}$$

$$Z_s = R + \frac{1}{sC}$$

$$\beta = \frac{\frac{R}{1+sRC}}{\frac{R}{1+sRC} + R + \frac{1}{sC}} = \frac{R}{R + R(1+sRC) + (\frac{1}{sC}) \cdot (1+sRC)}$$

$$= \frac{1}{1 + (1+sRC) + \frac{1}{sRC} \cdot (1+sRC)} = \frac{1}{1 + 1 + sRC + \frac{1}{sRC} + 1}$$

$$= \frac{1}{3 + sRC + \frac{1}{sRC}}$$

$$A\beta = \left(1 + \frac{R_2}{R_1}\right) \times \frac{1}{3 + sRC + \frac{1}{sRC}} \quad s = j\omega$$

$$= \frac{1 + \frac{R_2}{R_1}}{3 + j\omega RC + \frac{1}{j\omega RC}} = \frac{1 + R_2/R_1}{3 + j(\omega RC - \frac{1}{\omega RC})}$$

$$A\beta = +1 \Rightarrow \text{Im}(A\beta) = 0 \Rightarrow \omega RC - \frac{1}{\omega RC} = 0$$

$$\Rightarrow \boxed{\omega = RC}$$

$$\Rightarrow A\beta = \frac{1 + R_2/R_1}{3}$$

$$A\beta = +1 \Rightarrow \boxed{R_2/R_1 = 2}$$

